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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. - Answer the following as directed :
' 1x10=10

ot SR were faiiRe Sew o ¢

. {a) . Cost accounting is a method of
cost.

- (Fillin the blank wzth appropnate word)

Beotim I IRl P IRE
<51 9(%?@)1 (@wmﬁﬁwrw)
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(b) A cost is an irrec'ove_rable cost.
~ (Fill in the blank with appropriate word)

I R 7 Tak FRA @R T

(Cor[& 7 <UET) 912 979 B90)

| (c) Indirect labour is treated as. part of

AR & I @O O |
(i) finished goods
AFS 1JJ

(i) work-in-progress
@ AMS TGO ]

(iii) factory overhead
IR THfZS I

(iv) product

aJJ .
(Select the correct answer)

(IR GG AR Clesn)

(d) Material is the first element of cost.
(State whether the statement is true or
false) ¥
Sl T (R0R TRAMAT AT B |

| (Sf&eh! 797 7 ey fadll)
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(e) method of valuing material
issues is suitable in the times of falling
price.

(Fill in the blank with appropriate word)

Riferm w3 s
(THTE 19T AeT) A2 I )

() Bin card is a part of accounting record.
(State whether the statement is true or
false)

Bin card (22 QETW‘T SYICTE EE| tﬂm Sl |
(Cf&eh1 777 (o epTey fo14))

(99 Which of the following is not a part of
- time-keeping ? |

weTS fRAl PRTH! I TR < W‘EF‘?{@?
() Punch card '
B R LB
(ii) . Job card
T o1g
(iii) Attendance register
(iv) None of the above

TS OIS N
(Select the correct answer)

(BT TeIh! R Tleedr)
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(h) Depreciation is a semi-variable
expense.
(State whether the statement is true or

false) _
=Y (2% Sd-sifiaEaH i 495 |
(GI&h) 7oy (7 ey [FR)
(i) What is process costing? .
o] AR T BpeRE Wi [ e

() Write the meaning of ‘relevant cost’ in

cost accounting.

Bl A RpioRaers ‘eFies Iw' oY | |

2. Answer the following questions : 2x5=10

O MAIERR Bel & ¢

(@) What is the concept of cost?

BesAma IR qefl e & goe

(b) State the meaning of motion study 1n

labour costing.

=% Y BoreRers oifS SiEme 9y Srad 34
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(c) State two important features of process

costing.

sifera BeoAm= 77 BoiiaaeR 7o) hﬁi}@mﬂ
91|

. (d) What is operating coéting?
Bieti= 8 Rpieiaad e & gEime

(e) Name from the following the method of
costing and cost unit for :

weTe il Gowiel 7o I RpieRael s oI
offo (569 [ T 4 2

(i) Aircraft - (=)
(i) Transport (IrOITS)

3. Answer any four of the following ciuestions_:
' S5x4=20

Wﬁmﬁ*mﬁ?! ﬁmm@@aﬁmz

(a) Mention five objectives of cost

accounting.

@Qmmfiﬁlﬁwq%ﬁ 50! @“W‘U@@N
S | A
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(b) A consignment of sugar was received
by Murli Brothers. The invoice reveals
the following data :

IR IS (BRR CININ IR 947 BTN ATCE |
BIFIN] GAR ReRTIIEA ©od SUPTR AT IS 3

Quantity (?fﬁﬁn"f) '600 kg
Rate per kg (2fs f&tetieasm 3=) T 25

GST (A =% GRI 29) @ 12%
Freight (Ir91T9 ¥3b) 22,130

After receiving the consignment, it was
noticed that there is a shortage of
300 kgs. What stock rate would you
adopt for the product assuming a
provision of 5% towards further
deterioration ? .

FEAR 2 T e 300 kg &I AGH 71
N1 5% SoRe Sree (@ I «FE
IS TG© 2N 79 Faeld I A [W2

(c) What is ‘payment by result’ method of
labour remuneration ? Mention two
advantages and two disadvantages of
this system. | " 1+(2+2)=5
=TGR o T et ARene W B
q@?ﬁ%ﬁfﬁ?aﬁmwmmﬁm
O T4 |
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(d) The following data pertain to a material

(J’ :
OoTo [l SR ANEY U’ TS T ¢

Supply period . : 4 to 8 months

QI R : 4 9} 8 W}

- Consumption Rate

(Sl T |
Maximum : 1200 units per month
55 ;1200 (oI5 &fS iz
Minimum -~ : 600 units per month
B .1 600 (oG efe Wze
Normal : 900 units per month
Feled . 900 (i ofe We
Yearly _ : 10800 units
= 1 10800 (I

Storage costs are 50% of stock value
QU ©IGl I TGS Aq] Y4 S0%

Ordering costs are ¥ 400 pér order
TG A AR WIS 400 T

Price per unit of material ¥ 100
9 TR 7 AfS (IS 100 T

Compute the minimum stock level. -

TISH TGS AN B Fno 1|
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(e) Explain the five reasons of ‘abnormal
idle time of labour cost.

=3 IR TSI el TR Apoy SR G
&4 |

() How is abnormal gain calculated and

treated in process costing ? -
2+3=5

mmﬁﬂwq—wﬁm oS (FECD
st S 3R Zpiel I T 72

4. Answer any four of the following questions :
10><4 40

‘TWWWW e ot ¢

(@) What are the various costs classified
under ‘functional classification’?-Give
a brief description of each of these
costs.

S eTReER’a SRS 4 [T Sesim
WC&W%W?WW@QM
I 5 I |

(b) Assam Manufacturing Company uses

- copper wire which is purchased
from the market as and when
necessary. Following purchases and
issues were made during the month of
January, 2023:
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FME I WEIR ST G 2 O T
<Rz | wore fral @ o R 2023, @R

January 1

'January 3

January 7

January 11 3
January 18 :
January 24 :

January 28 :

AT S

Opening balance 300 kgs at
50/ kg

\WaﬁSOOngﬁ @ﬁrsow

Purchased 500kgs at 252/ kg
&I 500 kg, dfs (Flero 52 Tl -

Issued 220kgs.
e 220 @ fer

Issued 440 kgs

& 440 ol
Purchased 490kgs at 46/ kg
T 490 (Fle, efs (Fiere 46 T

Issued 300 kgs
& 300 fer

Surplus 20 kgs returned to store

- out of quantity issued on 7th

January

_w@'rﬂﬁmﬁmwaﬁ:m

20 e evisca ke

Prepare Stores Ledger Account for the
above transaction according to FIFO
method of pricing issue of materials.

CATEIG (FHMAERA #F FIFO 2&os 2ofus]

fesd we www AfoarR ot ags i)

4 (Sem-4/CBCS) HC 1/RC (CAC)/G 9. Contd.



BIKALI COLLEGE LIBRARY

"(c) During the first week of January 2023,
~the workman Mr. Santosh produces
150 arficles. He received wages

for a guaranteed 48 hours a week
@ 2 50 per hour. The estimatéd time to
produce one article is 20 minutes and
under incentive scheme the allowéc;l 1s
increased by 20%. Calculate his gross '

wages according to—

(i) Piece works with guaranteed

weekly wages ;
(i) Rowan pré,mium bonus plan ;
(i) Halsey premium bonus plan.

2023 5] TRIS] TZF 2T ABRS . Ao
IS SRS 150061 %13 Besfivia [ee @1
(©€ B! AWZI 48 TTS &S IO 50 LIS
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TGR S| @G5 T B TR SIS
s 20 ff G W SrsifEs Sipfe 20%
3% T SaEfs fal 201 (9¢T o TgR oot
fra <iefR SR ARl FA—, |
) ool R At Rk AdiRe TGN

(i) TR gofe G 6 (Rowan
Premium Bonus Plan)
(iii) 2 @~idf b A (Halsey

Premum Bonus Plah)

(d) Explain ‘©under-absorption’ and ‘over-
absorption’ of overheads. What are the
causes for under and over-absorption

of overheads? - (2+2)+6=10

Boifze IR TE o WS Sfelie iR
T TG 4| TAES T T N WIE
wfeRe s e f 2
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(e) A firm of building contractors began to
trade on 1st April, 2022. Following was
the expenditure on a contract for
<29,00,000 :

1st @f3iE, 2022 © 5z Fsfiernia) Bemm efser
QY IR RS IR | TS BFED 9,00,000

Bt B GOR AR S TR 24 8
| . (3) 3
Material issued (=7 @3 fafe7) 1,44,000
‘Plant issued (F@ifs RR) 30,000
Wages incurred (FgR) | 1,48,000

Other expenses incurred (WNIFU'?HB) 30,000

Cash received on account of 31st
March, 2023.am0unted to ¥ 4,00,000;
being 80% of the work certified. Of the
Plant and Materials charged to contract,
Plant which cost ¥ 6,000 and Materials
which cost 2 5,000 were lost. On 31st
March, 2023 Plant cost 4,000 was
returned to stores, the cost of work’
‘done but uncertified was ¥ 20,000 and
materials costing ¥ 4,600 were in hand
on site.

4 (Sem-4/CBCS) HC 1/RC (CAC)/G 12
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Charge 15% depreciation on plant and

prepare Contract Account.

31 .95, 2023 80% F &AM 29 &ies
R*RIte 4,00,000 4% 56l f2pisre i = |
3t fZpiele I TSI 6,000 TR IS
TZITS S 5,000 BF JIF 2l =fo 2|

31 56, 2023 4,000 T I TFARS wwstar
=% 7@l =@, 20,000 THE Serio efte
T 4,600 5F IR AGEY G @RS

TS A [

E@Wfﬁieﬂ$§15965FF“&¢$ﬂthﬂﬁiﬁﬁﬁ;
2piol oEe 1 |

() Briefly d_escrlbe the need for and
- prochu;'e for integration of Cost
Accounting and Financial Accounting.

| 5+5=10

Teriiv T T2pieiasel Sl ﬁ“"‘itr f2pIoiae gz
BTG O] NS ZHIF PR GICF 3671 1 |

(g) (i) What is allocation and

apportionment of overheads ?

@ﬁfi—waﬁmﬁmm%?
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- (i) A company has four departments. -
| The actual cost for the period are
~ given below. Apportion the cost to
the various departments by using
the most equitable method— | ‘
| ~ 2+8=10

B! FAINIR BIRG! Reiel | b1 i T
2Rpe A OIS Al TEA | SBIRSE @R
Fatsre safe R IR RKfen Renil

- Were I [ered 01— -

(2) Bt
Rent (181 5,000
Depreciation (S%3) - - s 4,800
. Supervision (RIr=) 9,000

Employer’s Liability Insurance 900

(THIRT = )

.Insurance () - | . 3,000
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The following data are also available in
respect of four departments :

Tﬁmuwﬁﬂmm—w

Particulars A B C D
Area (sq. feet) | S0 40 30 30
i (7o §5) |
Number of Workers 24 16 12 8
FHRIE MR
Value of Plant (in %) 12,000 9,000 | 6,000 | 3,000
TR T (5
Total Wages (3) 4,000 |'3,000 |2,000| 1,000

| % R G
Value of Stock (3) 15,000 {9,000 |6,000 | -

o AR U GI)

(h) A manufacturing company disclosed a
"net loss of 2,91,000 as per their cost
accounts for the year ended on March

31st, 2023. The following 1nformat10n_
~was revealed as a result of scrutiny of
the figures of both the sets of books.

‘4 (Sem-4/CBCS) HC 1/RC (CAC)/G 15
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31 %, 2023 © @5 TAWASIA] ST . -
2,91,000 TI9 JJ (B (OSTAI BLAWH
7 Tyl et S0 | At BT O
AR T fAiRe ool AfSrmad aer T

T 8
| (%) T
Factory overhead over absorbed 8,000
Administrative overhead underabsorbed _ 12,000
- 2T Tofize 5 W A | |
Depreciation charged in financial accounts 1,10,000
Rél fopie e @ |
Depreciation charged in cost accounts 1,22,000 -
Beoili R fRplT SR <9 |
~ Income tax provided | 75,000
Interest on loans fund in financial accounts 1,34,000
i foteie A W goide 7o |
‘Interest on investments not included in cost accounts 32,000
Beel 1 foiT e aoa RiWaem e |
Transfer fees (Credlt in ﬁnanmal books) . % 8,000
Stores adjustment [Credtt in ﬁnanmal books) 24,600

GRS g WW—@%B

Prepare a Reconciliation Statement
from the above information.

GG ST 71 4 FAPEEIR ﬁ?f G
< I
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